Integrated Geometry Name: \LE \l
Complex # Test Review Date: Period:

simplify the expression.

1. V525 {72521 =syz, 2 Viei=ler.m =3 3 Viz =Jet.3 =23
L2 N =2 5. f 128 _ {ize ‘J:,,i' 53 _ 53 = V53
= e

V&1 = :,:-é_—‘:; V25 -'\ri?: —5 Vo q5 3
Write the complex number in standard form. ky
7 V=00 =08l = 3idt # Y=196= 141 .. 9. VIRD = J-le .5 = HiVS
10, 2+V-2T=22+893 M. 6-V-162=b-J-81.2 12. -3 +V-M =3¢ 01
=243W3 = L-AV2 =-3 42y
Write the expression as a complex number in standard form.
13. 6i+(=2-77) T e R e
15. 2+ 50 +(5-20) 16. (=7 =120+ (4 +5) = =3 =2(
17. (1= —(6+1) 18. O —8i)—(@—13)=545;
19. (=243 + {72 - 37 20. (4—i)—(—6+T)=10-90
21. Gi+(=T7+0-2 22, T—(—10+0+4 =\ —+ 3
23. (14+3)(-2+) 24. (=2 - 52— 2) = =4+Mi-W0i 410t = 14 -k
25. (3 — 2% ; 26. (7415 = 3564 -"Sl - -54+386¢
27. (=242 28. (1 —i)2=6i)=2-li —2{ +4i2= =4 -%¢
29. —(2+3i(1 -4 ' 30. (3 +5)V= (3+50)(345)) = —1te+ 301
31 4i(3 — i)(—2 + 8)) 32, 30 =4 = 5) = (b - 2)=5) = 42 -
33. 4%; 34, m-r_’&: :’Z‘:‘" = %"'"z“‘

=3 b

Find the real numbers x and y to make the equation true:
~-5x=20 -\ =-9

1. X=3m=35+ 15 6. —5x — y =20~ 9 [x=-4 Y -.-.ﬂ
-[‘05_ ﬁ‘% 43 f{” —6x + Tyi = 18 + 28 .. 7, —4x + Sy = —2 — 35i
3 —24 =5
3. dx~Ti=22—~ Lyi 8.%——23,‘3: x4+ 5 ¢ B 3'—_5/2
. 310 =X i

4 5y — Tvi = -—m = %0 % 2y — 71:” = 20 + 4
e - = 10 .

27— 8i= —13x + 3yi ~14 4+ 12i = Tx — 6yi

~H=23x 11L= =lest
X==F - =56
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Integrated Geometry Name:
Complex # Test Review Date: Period:

Simplify the Expression:

1. 27 +2J12 218
v ) v —
“3B UG- iz =|IJ3 -6JZ

S y-syz
P} . - 20-25V2 20 - 25J2 0 J
4+5V2 Yy-syz - = =|-19 4 25V2

W -20{2+20V2 — 50 — 34 1= 34

2 /7<\
3, (4,+\/§) = (Q@ﬁ\ = lbo +13 +43+3 :‘lﬂ+ 83
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